H & 0l & At H A M

S oFEAHAD

=

M For JHet

Sl XISIHL ALY (SHel: &)
2A -3 - A(3) - MRAKY - BES Oil &K J|1EH HlwszZ
rsEasin 60,142,566 51,692,812 8,449,754
= 4,704,255 4,610,255 94,000
Xl 5,486,000 5,219,000 267,000
[ 3,113,028 2,287,628 825,400
= 46,839,283 39,575,929 7,263,354
F|oFX| JHet 13,470,465 11,970,465 1,500,000
< 250,000 0 250,000
= 13,220,465 11,970,465 1,250,000
XISOHLAS 13,410,325 11,910,325 1,500,000
< 250,000 0 250,000
= 13,160,325 11,910,325 1,250,000
KIS 2T AL 250,000 0 250,000
< 250,000 0 250,000
401 AlEHILSOH] 250,000 0 250,000
< 250,000 0 250,000
01 Al&H| 250,000 0 250,000
O+E0I2 SAY T2HEIZA(LYH)
50,000,000 50,000 0 50,000
< 50,000 0 50,000
OXte orlle o1 o SREIBA(LEH)
50,000,000 50,000 0 50,000
< 50,000 0 50,000
OUZDIE SEFXE ZESAHLEEHA)
50,000,000 50,000 0 50,000
< 50,000 0 50,000
OZE0IS FAHANL FaAR(H2H)
100,000,000 100,000 0 100,000
< 100,000 0 100,000
ARDFDISJA(ZAIR) 5,739,325 5,744,325 25,000
401 AlEHILSOH] 5,739,325 5,744,325 A5,000
01 Al&H| 5,725,000 5,730,000 A5,000
ORNAE TAZ JHEBA 200,000, 0002 200,000 150,000 50,000
OXA (01 NUE2 SHEETA} o 0 300,000 300,000
OshIiiE U2 =4 400,000,000 400,000 250,000 150,000
OXte &t =XHE HHIBA o 0 150,000 150,000
QA=A )02 NYEZ LS A
100,000,000 100,000 0 100,000
ORE TE= SIS EAZTAF 200,000,000 200,000 150,000 50,000
O2A sl20IE RITZ HESAH
160,000,000 160,000 100,000 60,000
OsA0IS LQETUZZ HEZA
240,000,000 240,000 200,000 40,000
Ottty 2002 YT LAt
300,000,000 300,000 500,000 200,000
OStd AYS|2 Y SI|HED FHEH| ALY
02 0 180,000 180,000




SA:
X XH -
(e

o
chel:

OI™HA D

=
FHEXl OHe
KIS IR AL

SA - B SRA(B) - HRAY - BES il & pE-L HimEE]
OA72 MHHAEAIE (S ADIME, &S 2
els2 AS JAHeH)EEIAIY 75,000,000 75,000 0 75,000
OdX0IE CI=EREE SE3A
300,000,000 300,000 0 300,000
A F0I=SRIALY 1,454,734 1,319,734 135,000
401 AlEHILSOHY] 1,454,734 1,319,734 135,000
01 Al&HI 1,450,000 1,315,000 135,000
O2=0ts S22 ZBIZA 30,000,000 30,000 30,000
OU==0l2 sZEHSA 20,000,000& 20,000 20,000
OS20I2 22 52 L 842 F42A
40,000,000& 40,000 0 40,000
O&EMOts MYE=Z SHLEZAL 30,000,000 30,000 0 30,000
OXreIDLE ot IS EXISA
15,000,000& 15,000 0 15,000
X =0I=RANY 668,371 538,371 130,000
401 AlEHILSOHY] 668,371 538,371 130,000
01 Al&HI 665,000 535,000 130,000
O&A0tE OtAE IMNRIIZBA 60,000,000 60,000 0 60,000
O2=0I2 sZE+SA 40,000,000& 40,000 0 40,000
ORY otz ZUIBAt 30,000,000& 30,000 0 30,000
LR F0I=RAAIY 306,548 216,548 90,000
401 AlIEHILSOHY] 306,548 216,548 90,000
01 Al&HI 305,000 215,000 90,000
OLF &2 BT SAIE 50,000,000& 50,000 0 50,000
O4DI0lE SHA XA 40,000,000& 40,000 0 40,000
ME0I=RIALY 301,368 191,368 110,000
401 AlEHILSOHY] 301,368 191,368 110,000
01 Al&HI 300,000 190,000 110,000
Os20l2 =2 L NAEHISA
60,000,000& 60,000 60,000
Odldits =8 TAAME 20,000,000 20,000 20,000
OREOIE or2 OtAZHM LIS AL
30,000,000& 30,000 0 30,000
SAFEI=RAAS 623,024 483,024 140,000
401 AlIEHILSOHY] 623,024 483,024 140,000
01 Al&HI 620,000 480,000 140,000
OXl2e s2ZE & AHSLSA
30,000,000 30,000 0 30,000
OUADIZ ZMOIZ =Z2FHISA
30,000,000 30,000 30,000
O&ENES F=XE A 40,000,000& 40,000 40,000
O =0l ¢S NEEHIZA 40,000,000& 40,000 40,000
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S oFEAHAD

=

M For JHet

SH9l: XA (el &)
SN - FE - SR(3]H) - NRAR - BaS il &k p[EL" HimE==1
AEZ0ISEAY 683,025 563,025 20,000
401 AI&BIL2TH] 683,025 563,025 120,000
01 A&t 679,000 559,000 20,000
OCR! J10IB 52T ETA 25,000, 0002 25,000 0 25,000
OFH BIAIZ S2EFTA 25,000, 0002 25,000 25,000
OZEOIZ FY2 HTEIBA 30,000,002 30,000 30,000
OSd 52 U IFAIL SXIZA
20,000, 0002 20,000 0 20,000
OBF 529 WX FUIZAL 20,000,000 20,000 0 20,000
NEEETIPEN 989,255 839,255 150,000
401 A&BIL2TH] 989,255 839,255 150,000
01 A&t 984,000 834,000 150,000
OHBOIS 1Y FHFIZ 50,000, 0002 50,000 0 50,000
OSYIS O=XBE T A HRIZA
30,000, 0002 30,000 0 30,000
OHNYOIS TISHBE OLABEIBAl
50,000, 0002 50,000 50,000
OSH0IS $ot S2EFIBA 20,000,008 20,000 20,000
ERETIPEINE 683,654 583, 654 100,000
401 AI&BIL 2T 683,654 583, 654 100,000
01 A&t 680,000 580,000 100,000
Ot 42 FHIBA 30,000, 0002 30,000 0 30,000
OSHa S28TIDA 35,000,000 35,000 0 35,000
OFE 2T 35,000, 0002 35,000 0 35,000
AIOHZOI AR 764,608 644,608 120,000
401 AI&BIZ 20| 764,608 644,608 120,000
01 A&t 760,000 640,000 20,000
OZH SEIB S2IUIBA 60,000, 0002 60,000 0 60,000
OOFNOIS 212 THEFBA 30,000, 0002 30,000 0 30,000
OLHS0IS 2 SHTFTA 30,000, 0002 30,000 0 30,000
M| TSRS 31,584 201,584 100,000
401 AI&BIL 2T 31,584 201,584 100,000
01 A&t 320,000 220,000 100,000
OHEOIZ FY2 FHHIBA 50,000, 0002 50,000 0 50,000
OS A0S Y2 BH
50,000, 0002 50,000 0 50,000
SxoI=AY 613,465 553,465 60,000
401 AI&BIL 2T 613,465 553,465 60,000
01 A&t 610,000 550,000 60,000
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SA:

X XH -
oS-

OI™HA D

=

ol XIS AY (Sre: ®2)
A - B S9(3) - HRAY - BES il &y pE=E HimE=]
OHN0IE DGR OS2 E Al
30,000, 0002 30,000 0 30,000
D20IE SEABA 30,000, 0002 30,000 0 30,000
CEALAY 13,749,054 11,109,054 2,640,000
7 286,000 19,000 267,000
= 281,000 150,000 131,000
z 13,182,054 10,940,054 2,242,000
CEASAY 337,594 222,504 115,000
7 36,000 19,000 17,000
= 81,000 0 81,000
z 220,504 203,504 17,000
SIESSD OfRI0I2 57 DAY 72,000 38,000 34,000
7 36,000 19,000 17,000
z 36,000 19,000 17,000
401 Al HI2 S CHY| 72,000 38,000 34,000
7 36,000 19,000 17,000
z 36,000 19,000 17,000
01 AIZH] 72,000 38,000 34,000
OSAESSI T 0f210] 2572 KA
72,000,0002! 72,000 38,000 34,000
7 36,000 19,000 17,000
z 36,000 19,000 17,000
ESSDFH S AT A 81,000 0 81,000
= 81,000 0 81,000
401 Al&HI2 S CHY| 81,000 0 81,000
= 81,000 0 81,000
01 AIZH] 81,000 0 81,000
OZSSDFH BTHX(MY, 2F)(S2T)
81,000,0002 81,000 0 81,000
= 81,000 0 81,000
S0IEC2IUIAY 4,986,070 4,411,070 575,000
= 200,000 150,000 50,000
z 4,786,070 4,261,070 525,000
S0IETR FUIAY 4,446,070 4,111,070 335,000
401 A& HIZ S CHY| 4,446,070 4,111,070 335,000
01 AIZH] 4,435,000 4,100,000 335,000
OLTAEHATIEY T2 HHIBAHL=0.22kn)
685,000, 0002 685,000 200,000 485,000
QLI HEIYE 2 FHIBAHL=0.5kn)
50,000, 0002 50,000 0 50,000
OPIZIRE(PARRISRY) E2FHIBAL 02 0 200,000 200,000
AU R T BAL 540,000 300,000 240,000
= 200,000 150,000 50,000
z 340,000 150,000 190,000
401 Al HIZ S CHY| 540,000 300,000 240,000
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SA - ZH - E2I(3I) - IRAR - BaS il st plEE" HmE=!
& 200,000 150,000 50,000
= 340,000 150,000 190,000
01 Al&HI 540,000 300,000 240,000
OB L~UTHI S 2 & L E S AH(L=2.5km)
540,000,000 540,000 300,000 240,000
= 200,000 150,000 50,000
= 340,000 150,000 190,000
=S HHALY 3,960,080 2,810,080 1,150,000
=& EHIAK 2,660,080 2,810,080 150,000
AEBIZL LI 2,660,080 2,810,080 A150,000
Al 2,650,000 2,800,000 A150,000
O ENS(Sel-ArEzh &8 SEEIZAKL=1.2km)
0 0 150,000 A150,000
AIOHKI7 SS A SURE XS HUIAF 1,300,000 0 1,300,000
401 AlEHIZ2OHB| 1,300,000 0 1,300,000
01 Al&HI 1,300,000 0 1,300,000
OLIOKKI= SEAHK SURIE XS ZHIAH
(40,000m" ) 1,300,000,000& 1,300,000 0 1,300,000
wEIEs JIEIE=2 A 4,215,310 3,665,310 550,000
C2AL FO=FAY 2,170,814 1,620,814 550,000
401 AlEHIZ2OHB| 2,170,814 1,620,814 550,000
01 Al&HI 2,165,000 1,615,000 550,000
OAIR AR T UEZHHISAHL=0. 1km)
80,000,000& 80,000 0 80,000
OJIE2aMelER U =22 T A B ANL=0.984km)
890,000,000 890,000 500,000 390,000
OB =225 (HHKIT) ETEXISA
50,000,000& 50,000 0 50,000
O2|E208S & (HAXIR) =2 FHISAH
30,000,000& 30,000 0 30,000
KON HE =AY 250,000 0 250,000
Xl 250,000 0 250,000
MEINEUSZHAHA LS AIS 250,000 0 250,000
Xl 250,000 0 250,000
401 AlEHIZ2OHB| 250,000 0 250,000
Xl 250,000 0 250,000
01 Al&HI 250,000 0 250,000
OMEI N Z2AIZRAAAHAIEES A (L=300.0m)
250,000,000 250,000 0 250,000
Xl 250,000 0 250,000
ot& Ehl 13,163,097 10,922,797 2,240,300
= 2,820,000 2,750,000 70,000
Xl 940,000 940,000 0
= 1,115,500 845,000 270,500




SA: AL}
&z ot &4l
chel: Xigtsia e (42l )
A - B S9(3) - HRAY - BES il &y pE-L HimE=]
o 8,287,597 6,387,797 1,899,800
ot 2t 8,042,265 7,193,265 849,000
= 2,820,000 2,750,000 70,000
= 1,115,500 845,000 270,500
= 4,106,765 3,598,265 508,500
S =X 2|2 390,350 302,350 88,000
401 AlEHILSOHY] 358,500 270,500 88,000
01 Al&HI 358,500 270,500 88,000
OFHotE M &EH| 8,000,000& * 1102 88,000 0 88,000
N &otE 7 X 2tel AlS 681,000 190,000 491,000
= 340,500 95,000 245,500
= 340,500 95,000 245,500
401 AlEHILSOHY] 681,000 190,000 491,000
= 340,500 95,000 245,500
= 340,500 95,000 245,500
01 Al&HI 681,000 190,000 491,000
OXIYIESXIZH2IAISE (D& /A BI)
210,000,000& 210,000 190,000 20,000
= 105,000 95,000 10,000
= 105,000 95,000 10,000
OXlgotd HXIE A (HE™)
36,000,000& 36,000 0 36,000
= 18,000 0 18,000
= 18,000 0 18,000
OXILeHe EEAIL(SAHXT)(GEA)
240,000,000 240,000 0 240,000
= 120,000 0 120,000
= 120,000 0 120,000
OL% Bi42 FUIA(L2IF)
195,000,000& 195,000 0 195,000
= 97,500 0 97,500
= 97,500 0 97,500
2SI R 24=(40H=22]) 320,000 250,000 70,000
= 320,000 250,000 70,000
101 1248| 0 69,034 69,034
= 0 69,034 69,034
04 JIRIH2 2 EE 0 69,034 69,034
O=Jtotd ®X2e|elfY 0 69,034 269,034
00l ==t Q14| 0 0 60,240 260,240
= 0 60,240 260,240
0=24= 0 0 2,711 A2, 71
= 0 2,711 A2, 71
HEEE= 03 0 1,829 1,829
= 0 1,829 1,829
(OE=det=i=g 0 0 784 AT784
= 0 784 AT784
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2A:

T

col: sl (25l &)

2N - Z2 - 2A(3H) - MR Hd= Ofl &K DIPSEL HwES2
IO = 0 2,410 72,410
= 0 2,410 72,410
O=oIEIRYEEE 2 0 60 760
= 0 60 260
Ol = (Rtei= orxia) ) = 0 1,000 A1,000
- 0 1,000 A1,000
201 Lerea| 0 5,300 75,300
- 0 5,300 75,300
01 AtR2telt] 0 2,600 22,600
Oglet==2H| 0 2,600 22,600
00130 24 0 0 1,600 A1,600
= 0 1,600 A1,600
001301 227l o 0 800 7800
= 0 800 800
(CEPIESREEESI R o 0 200 2200
= 0 200 2200
02 3523l 0 2,700 A2,700
OAIZEH| |XId| 0 2,700 A2,700
08Tzl M2 KA o 0 1,500 A1,500
= 0 1,500 A1,500
001301 2 L RE7Y o 0 1,200 1,200
- 0 1,200 1,200
LT 320,000 175,666 144,304
= 320,000 175,666 144,304
01 AI&H| 320,000 175,666 144,34
SEPILEIEVERINS 300,000,000 300,000 165,666 144,304
= 300,000 155,666 144,304
XEGHe AEEHIA 1,984,248 1,784,248 200,000
201 U= 1,984,248 1,784,248 200,000
01 AI&H| 1,980,000 1,780,000 200,000

OAM(BEXT) SIEEHIZAI

500,000,000 500,000 300,000 200,000
CoANT YR EYI A 450,000 500,000 750,000
< 225,000 250,000 725,000
= 205,000 250,000 725,000
201 U= 450,000 500,000 750,000
< 225,000 250,000 725,000
= 205,000 250,000 725,000
NEE] 446,760 500,000 753,240
OF2IX7 LHGHEEHIAY 46,760,002 446,760 496,400 A49,640
< 225,000 250,000 725,000
= 21,760 246,400 724,640
OF2IXT LHGEEHINY AERUE 02 0 3,600 3,600
06 AIZZCHY] 3,240 0 3,200
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SA: QHERAMY

M ol ZH|
el Kok (EER )
S - FE - SRI(E) - HRAR - BaES ol &k plE=L! HimEE]
OEelX+ LBeHEEHIAIE AIE S0
450,000,000 *0.72% 3,240 0 3,240
THE A AL (AL HGIE T IS AL 50,000 0 50,000
= 50,000 0 50,000
401 AIEHIZ 20| 50,000 0 50,000
= 50,000 0 50,000
01 Al&Hl 50,000 0 50,000
O SHEFHIAI (HBA) 50,000,000& 50,000 0 50,000
= 50,000 0 50,000
NS rSEEIN R ol 3,519,500 3,134,500 385,000
Xl 940,000 940,000 0
= 2,579,500 2,194,500 385,000
A0td RAI22IAM 1,439,500 1,254,500 185,000
401 AIEHIZ 2B 1,439,500 1,254,500 185,000
01 Al&Hl 1,435,000 1,250,000 185,000
O=gAcHe JUIAY 35,000,000& 35,000 0 35,000
OY=A0te JUIAA 150,000,000& 150,000 0 150,000
SEAGHE FHIAY 520,000 320,000 200,000
Xl 160,000 160,000 0
= 360,000 160,000 200,000
AEBIZL LI 520,000 320,000 200,000
Xl 160,000 160,000 0
= 360,000 160,000 200,000
01 Al&Hl 517,696 320,000 197,6%6
OY &Aoot EHIAY 517,696,000 517,696 317,69%6 200,000
Xl 160,000 160,000 0
= 357,696 157,6%6 200,000
OYEA0tE HHIAIY AIE201Y| el 0 2,304 A2,304
03 AIE20HHI 2,304 0 2,304
OYEA0tE HHIAIY AIE201Y|
320,000,000 *0.72% 2,304 0 2,304
ot& =Xl 2l 1,409,180 402,880 1,006, 300
SHEEIXM SR HAI 1,409,180 402,880 1,006, 300
401 AIEHIZ 2B 1,409,180 402,880 1,006, 300
01 Al&Hl 1,400,000 400,000 1,000,000
OFH StEEIRSHHAIL (HSH)
800,000,000& 800,000 0 800,000
OFJ oldm==XIZSMHAZ 200,000,000 200,000 0 200,000
03 AIE=20HHI 9,180 2,880 6,300
O= otamXlZelArg 20
1,000,000,000&+0.63% 6,300 0 6,300
S2IBHEYIAK 13,457,584 12,778,504 679,080
= 850,000 850,000 0
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S orEAA D}

R =oi)|
(e
S9l: =ei|gt

SA - B - S9(3) - NRAY - BaS il &y plE-T HmE==!
Al 4,260,000 4,260,000 0
= 1,128,000 968, 100 159,900
= 7,219,584 6,700,404 519,180
SEI|BHEHIALY 2,356,437 2,557,357 200,920
Xl 1,320,000 1,320,000 0
= 393,000 335,100 57,900
= 643,437 902,257 N258,820
S |BHEHIAI 2 122,437 120,357 2,080
201 2| 90,057 89,417 640
01 AF22teld] 72,007 71,367 640
OSHI(=YIIBIEREX)  8,0002%421x804! 2,560 1,920 640
202 Oid| 5,760 4,320 1,440
01 U AL 5,760 4,320 1,440
OGiHI(=2D|erg R4-3) 120,000& 401+ 128 5,760 4,320 1,440
=C|AlE KSFCIAH2AY 300,000 600,000 A300,000
= 90,000 180,000 A90,000
= 210,000 420,000 A210,000
401 AlEHILSOHY] 300,000 600,000 A300,000
= 90,000 180,000 A90,000
= 210,000 420,000 A210,000
01 Al&HI 300,000 600,000 A300,000

Ottd A4XI7 =2 FHIZAHL=800m)

Uz 0 300,000 A300,000
= 0 90,000 A90,000
= 0 210,000 A210,000

T =58 114,000 187,000 A73,000
= 34,000 56,100 A22,100
= 80,000 130,900 250,900
401 AlEHILSOHY] 114,000 187,000 A73,000
= 34,000 56,100 A22,100
= 80,000 130,900 250,900
01 Al&Hl 114,000 187,000 A73,000
OM= P8I E2LF=58 &XIZ3AHL=0.7km)
20,000,000& 20,000 18,000 2,000
= 6,000 5,400 600
= 14,000 12,600 1,400
O&Z UotXl+ EZ7=5 HXIZBAHL=1.0km)
20,000,000& 20,000 19,000 1,000
= 6,000 5,700 300
= 14,000 13,300 700
OL2% QEXT EIP=5 HIIZBAHL=0.6km)
17,000,000& 17,000 16,000 1,000
= 5,000 4,800 200
= 12,000 11,200 800
OM= BEXT EZ7=5 SHIIZBAHL=0.6km)
17,000,000& 17,000 16,000 1,000
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SA:

B mop|ormEl A
Chol: =0i)|uHEH| AL CER
SH - B B9I(E) - KIRAY - BES ofl&vo pJELY HIDS2
= 5000 T80 0
= 12,000 1,200 800
OAE MUK FHT=C2] ST ZAH(L=1.0kn)

0% 0 20,000 £20.000
< 0 6.000 £6.000
= 0 14,000 A14.000

092 [JENT FHT=C2] ST ZAHL=0.5m)

0% 0 14,000 A14,000
° 0 4,200 A4,200
= 0 9,800 £9.800

OME BHXT FHT=S2] ST AL, Tkn)

0% 0 22,000 £22.000
< 0 6.600 £6.600
= 0 15,400 A15.400

092 ZEXD FAT=C2 ST AL tkn)

0% 0 22,000 £22.000
< 0 6.600 £6.600
= 0 15,400 A15.400

RO A 170,000 0 170,000
< 170,000 0 170,000
201 NEDIZ =0 170,000 0 170,000
< 170,000 0 170,000
07 AlEH] 170,000 0 170.000
O 2 SHIAZ BHIZAHL=380m) (S H)
50,000, 0002! 50,000 0 50,000
< 50,000 0 50,000
OAIOH QEOIAR £AB2 HHIZAHL=500m)
() 50,000,002 50,000 0 50,000
< 50,000 0 50,000
ONS ER0LS =2 TRBAHL=500n) (S )
50,000, 000! 50,000 0 50,000
< 50,000 0 50,000
OMHIZE =018 BEINL AR (141)(H2IF)
20.000. 000! 20,000 0 20,000
< 20,000 0 20,000
oot FaIEAY 4.670.647 3,790,647 880,000
< 102,000 0 102,000
2 4,568,647 3,790,647 778,000
=olEt FoI=RAY 1,740,647 1,300,647 440,000
< 102,000 0 102,000
= 1,638,647 1,300,647 338,000
201 NEDIZ =0 1,740,647 1,300,647 440,000
< 102,000 0 102,000
= 1,638,647 1,300,647 338,000
07T AIED] 1,730,000 1,290,000 440,000
OQIOF O AT M TR AH 1WA . L=000m)
0g 0 200,000 £200.000
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SA: oHEAA D}
REH: =0
[ R

Ehel: S|k RIS ALY (Srl: &)
SN - FE - SR(3]H) - NRAR - BaS il &k p[EL" HimE==1
O=A S=Z=d A2 AN I, =990m)
200,000, 0002 200,000 0 200,000
OSHe 14 SHi42 FHIBAHL=450m)
100,000, 0002 100,000 0 100,000
OBIHHYI BAIHLARI(7IHA) (H2F)
340,000, 0002 340,000 0 340,000
= 102,000 0 102,000
2 238,000 0 238,000
AEE Se|BIERAY 195,000 165,000 30,000
401 AIEHIZL 20| 195,000 165,000 30,000
01 A&t 93,812 163,812 30,000
ST0lS YURT U B2 BLTA(1A)
30,000, 0002 30,000 0 30,000
0 S |B=RAY 295,000 235,000 60,000
401 AIEHIZL 20| 295,000 235,000 60,000
01 A&t 293,308 233,308 60,000
O& 842 FHIBAHL=200n) 40,000,008 40,000 0 40,000
OAZ SABHZ I§EZAHL=300m)
20,000, 0002 20,000 0 20,000
Q0 S |BI=RIAY 285,000 225,000 60,000
401 AIEHIZL S| 285,000 225,000 60,000
01 A&t 283,380 223,380 60,000
OUHEDIXIE BH42 FIZAKL=70n)
30,000, 0002 30,000 0 30,000
ORYSEIZ 52 FHIBAHL=90M)
30,000, 0002 30,000 0 30,000
MEQ S |BI=RAY 465,000 415,000 50,000
401 AIEHIZ S| 465,000 415,000 50,000
01 A&t 462,012 412,012 50,000
OXHL0IE 2 HHIBAHL=150m)
20,000, 0002 20,000 0 20,000
OZUI0IE =2 FHIBAHL=200m)
30,000, 0002 30,000 0 30,000
SHE s2)|BISRAIY 400,000 370,000 30,000
401 AIEHIZL 20| 400,000 370,000 30,000
01 A&t 400,000 370,000 30,000
OTAIDIS B4 FHIZAHL=300)
30,000, 0002 30,000 0 30,000
AEO S |BIRIAY 263,000 233,000 30,000
401 AIEHIZL 20| 263,000 233,000 30,000
01 A&t 261,6% 231,6%8 30,000
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SAl: QHERAMDY
REH: =0
[ R

e -Zgjltar Z0I=AIS (Er2l: &)
2N -3 - AA(3) - HRAY - BES Ofl &kt J|1HH Hws2
OBZE A8 SZZAHL=50m)
30,000,002 30,000 0 30,000
CHYBT S |BIERIALY 252,000 202,000 50,000
NEFIEET 252,000 202,000 50,000
01 AI&H 250,545 200,545 50,000
OTAF 842 FHIZAHL-600m)  50,000,0002 50,000 0 50,000
AIOHET D[S RIALY 320,000 290,000 30,000
401 AlSHIZL=CH| 320,000 290,000 30,000
01 Al 318,128 288,128 30,000
O<0H0KS SHH4+Z HUIZAHL=300)
30,000,002 30,000 0 30,000
MU SIIBERARY 145,000 115,000 30,000
401 AlSHIZL =] 145,000 115,000 30,000
01 AI&H 144,172 114,172 30,000
OATHOIS DIZE S 52 THZAKL=300m)
30,000,002 30,000 0 30,000
ASE S2)|BERALY 290,000 220,000 70,000
401 AlSHIL=CH| 290,000 220,000 70,000
At 283,416 218,416 70,000
OJIZ0LE RIE 52 TEBAKL=370n)
40,000,002 40,000 0 40,000
OPBOIS KIEY 52 THBAKL=280n)
30,000,002 30,000 0 30,000
TWoh 2 Mt =7 52 st 5,103,819 4,205,807 898,012
2 1,024,000 1,000,000 24,000
= 305,000 313,000 12,000
z 3,754,819 2,892,807 862,012
SR Seragee 81,819 279,807 582,012
PNV TESTHENE AL 446,752 8,752 360,000
401 AlSHIZL 2| 359,000 0 359,000
01 Al 359,000 0 359,000
OMUSEAE BAS|0| AL 25
359,000,002 359,000 0 359,000
405 TS| 3,000 12,000 1,000
PCEIEEEE] 13,000 2,000 1,000
OCCTV Mt 2EE 7 1,000,000+ 1CH 1,000 0 1,000
WLtalg BEIH X2 169,516 148, 116 21,400
201 Ler2| 31,084 21,684 9,400
2 BZ=2ZH| 31,084 21,684 9,400
0223 2 HAl 31,084 21,684 9,400

- 326 -




M erdAS
2 ol & Mt =7 s 235t
Sl YTHOHR BaaEee SRR
SA - B SA(SH) - NRAYS - BES il & pE=L HimE==}
052N FAE JHAES
150,000&*10& 1,500 0 1,500
LS MFALE IIAEZE 700,000+ 10 7,000 0 7,000
OXI2ltiB I SIHAMER 50,0009 450 0 450
0E&HE I SIHAMER 50,0009 450 0 450
401 AlEHIZ 20| 138,432 126,432 12,000
01 Al&HI 138,432 126,432 12,000
OAlIE&EH|l || 138,432 126,432 12,000
0U-IT SZAHK Sezte] AIAEESZEAL &
FAl2el 7,000,000& 7,000 0 7,000
OXtSI a2 E=FH| (D14t At 2 PC) [
5,000,000& 5,000 0 5,000
o M2 DB EE A 105,500 5,500 100,000
401 AlEHIZ2OHB| 105,500 5,500 100,000
01 Al&HI 105,500 5,500 100,000
OATE2 Mo F AL EHIAIY 100,000,000& 100,000 0 100,000
MolE==+ EHIXA 88,000 0 88,000
401 AIEHIZ 2B 88,000 0 88,000
01 Al&HI 88,000 0 88,000
OXSAHolIo S=S=+ XA 88,000 0 88,000
0=4D| 660, 0002 *100CH 66,000 0 66,000
gz 550,000&*40CH 22,000 0 22,000
LHAIE SF X2t 21,839 9,227 12,612
101 1248| 5,723 2,711 3,012
04 JIRIH2 2 EE S 5,723 2,711 3,012
O THAIEE "=Xl2tel 212
60,240 R3*221x252 3,012 0 3,012
201 LBH2AL| 16,116 6,516 9,600
02 2224l 16,116 6,516 9,600
o333 E HA 16,116 6,516 9,600
OXleltl=E I E MIAEE
1,600,000 6 9,600 0 9,600
THOHON ZEAS 4,242,000 3,926,000 316,000
= 1,024,000 1,000,000 24,000
o= 325,000 313,000 12,000
= 2,893,000 2,613,000 280,000
KHe THOH Ak AIE LI OH KT 66,000 0 66,000
= 24,000 0 24,000
o= 12,000 0 12,000
= 30,000 0 30,000
302 O|=L o2 &= 66,000 0 66,000
= 24,000 0 24,000
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SA:
X XH -
(e

o
chel:

HE AL I}
Mol & et S+ 55 23t
KHH Ol 2 AL

SA - B SRA(B) - HRAY - BES il & pE-L HimEE]
& 12,000 0 12,000
= 30,000 0 30,000
02 QIO SR EsEA = 66,000 0 66,000
ORIzl THAHEAS(THH KR S) (A H)
36,000,000& 36,000 0 36,000
= 24,000 0 24,000
= 12,000 0 12,000
OfIziel THHEAZ2(MHHXIAZ)
30,000,000 30,000 0 30,000
THOHRIE XIS HE (RS AKX R)-SEAK SN S 1,000,000 1,000,000 0
psda]
= 500,000 500,000 0
= 150,000 150,000 0
= 350,000 350,000 0
401 AlEHILSOHY] 1,000,000 1,000,000 0
= 500,000 500,000 0
= 150,000 150,000 0
= 350,000 350,000 0
01 Al&HI 993,700 1,000,000 26,300
OSZAK 21 2IEXY FH|(ZE)
993,700,000 993,700 1,000,000 26,300
= 500,000 500,000 0
= 150,000 150,000 0
= 343,700 350,000 26,300
03 Al&=0Hd| 6,300 0 6,300
OSZA 21 2IEXY FH|(HHA) 20|
6,300,000 6,300 0 6,300
NSSESEAIAE SEALY 50,000 0 50,000
401 AlEHILSOHY] 50,000 0 50,000
01 Al&HI 50,000 0 50,000
OX=SEEZAIAE MEF0HEX
50,000,000& 50,000 0 50,000
=B UHSHSHOOAA” 2= 700,000 500,000 200,000
401 AlEHILSOHY] 700,000 500,000 200,000
01 Al&HI 700,000 500,000 200,000
Oti+=EIZE XSHSHMOAIAR 2S(1112)
700,000,000 700,000 500,000 200,000
THEHOEM 22 | 529,885 388,865 141,020
= 10,255 10,255 0
= 13,528 11,528 2,000
= 506,102 367,082 139,020
MtotMate| CH=& 510,965 374,615 136,350
= 10,255 10,255 0
= 8,228 7,628 600
= 492,482 356,732 135,750
Mtord 2te |2 225,190 141,940 83,250
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SAf: QA
HE: oI
ol M2sl2S st (Sr9): &)
SN - B SRA(S) - NIRAY - BaS il &y pE-L HimE=]
OIH 252 E A 17,670 3,000 4,670
= 5,300 3,900 1,400
2 12,370 9,100 3,270
201 LBr2Yy| 17,670 13,000 4,670
= 5,300 3,900 1,400
2 12,370 9,100 3,270
01 AR a2l 7,670 13,000 4,670
Oysr2gy| 17,670 13,000 4,670
0OIH 2SR SAIEE 17,670,002 17,670 13,000 4,670
= 5,300 3,900 1,400
2 12,370 9,100 3,270
HRES (A& 575,000 275,000 300,000
TESIEGE 575,000 275,000 300,000
EEEIBIEEE 575,000 275,000 300,000
702 JI3HES 575,000 275,000 300,000
01 JI2FE2 575,000 275,000 300,000
omuEzIDIZ 575,000,002 575,000 275,000 300,000
HRES(QHEA A 51,342 0 51,342
RSO 51,342 0 51,342
S 51,342 0 51,342
802 BIEH20IE} 51,342 0 51,342
01 2nExIeES 19,734 0 19,734
02016 SERRAIALY 2NBEI8H
93,5602 934 0 934
02017 2IIGHEKKISAAR 0IXfeH
1,800,0002 1,800 0 1,800
OXIYGHEFHIARK (SAXIR) 0IXfere
17,000, 0002 17,000 0 17,000
2 Al - SHIZESEIE2 31,608 0 31,608
OTHE X RO AT BT B H(221)
210,0002 210 0 210
02017 THRI2ID|2 EToH Bt
4,312,79024 24,313 0 24,313
ONFHBOIS CISSBE TaAle 3T
5,000,002 5,000 0 5,000
02017 QHMSE2SA OIXt BHet
54,7502 55 0 55
O017HE BHSHEZHIAI (HLXIT) OIXteht
1,764,002 1,765 0 1,765
02017 XILGHE RKIZ2IAI 0IXtEH
264,440 265 0 265
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